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General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 65/0SS/1, Set— on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

Hatesm (Ram)
(314)
Time : 3 Hours] [Maximum Marks : 80
T 3 A [qori : 80
Note : (i) This Question Paper consists of 30 questions.
(i1)) All questions are compulsory.
(iii) Marks for each question is indicated against it.

(iv)

15 CE) SR €)
(i)
(iii)
(iv)

Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate answer. Choose
the correct answer among the four alternatives and write it in your
answer-book against the number of the question. No separate time is
allotted for attempting multiple choice questions.

39 UT-U H 30 ueA ¥

afl wed sfEd ¥

UA% YT % oih Iuk WA IR T E)

T HHIG 1 H 8 A% & TP W H AR faswed — (A), (B), (C) &R (D)
@ ™ ¥ W e waiys Stua §1 9 el § ¥ 98 a8 gy e
O SA-GRABT H TS HHh & W (ARG | Sgiashed] Ueal & o o
¥ g9 T foar smwemi

1  The common antibiotic, penicillin is the product of a type of- 1
(A) Fungus (B) Alga
(C) Protozoa (D) Gymnosperm
T et (Sfeamifes) UMM Saifed T a Sid @ 3 &
(A) &I%B (B) S
(C) e (D) Fo=re (SrTgErs)
2 Chlamydomonas shows 'isogamy', as the gametes are- 1

(A) Identical to each other

(B) One gamete is male and one is female

(C) Both gametes are produced by same individual
(D) Both gametes do not have flagella

FIES MM gD e &, Filh oh e () = de&or 3o 2|

(A) G TH A B

(B) TH gWa X q°T TEA AET TG ol 5
(C) T gWeH TH & SiE g SA B &
(D) T GBI § BIMH (RAToren) & B |

65/0SS/1-314-A | 2 % [ Contd..



3 The habitat of a tapeworm is-
(A) Sunderbans
(C) Soil
WIAT B B EE 3
(A) Gt
© T

(B) Human gut
(D) Roots of plant

(B) TMT R AT
(D) uEYl & W=

4  The bacterium used in plant genetic engineering is-

(A) Vibrio cholerae
(C) Plasmodium Spe.

(B) Agrobacterium tumifaciens

(D) Lactobacillus

Uy SATERTR A (SHiew SSaraT) o IuEnT fhar ST arer Sy @

(A) fafsar aiadr
(C) wrHIfgT o,

5  Cyanobacteria is included in kingdom Monera, because it has

(B) wIRFEIRTT ZHHR<T

(D) deelEiyag

(A) nucleus without nuclear membrane

(B) no cell wall
(C) flagella
(D) chloroplasts

IOl FFRINAT Bl AT S &6 Sfaid W@ T & Hith 399 Bl 8

(A) o1 s e B BEd
(B) wifyremr P orguRed B &
(C) Iy

(D) FARE

6  Stem is a developed
(A) Radicle
(C) Plumule
T s famiad yafia #:
(A) TP
(C) wig
65/0SS/1-314-A |

(B) Node
(D) Bud

(B) W&
(D) hicTenT

ﬁ [ Contd...



7  The stem modification in ginger is called - 1

(A) Corm (B) Rhizome
(C) Bulb (D) Tuber
3EH H I b WU Bl HEd © —
(A) =TbT (B) wehs
(C) sTeheha (D) &g
8 Shedding of leaves in plants is controlled by this phyto hormone. 1
(A) Auxin (B) Florigin
(C) Abscisic acid (D) Gibberellin
e # ufaal % we @1 FrEE 39 Uy WM BT g © -
(A) ST (B) WS
(C) ufwfas s (D) R
9  Write the names of source microbe (one each) used in preparation of 2
following products :
(a) Yogurt (b) Polymyxin
(c) Alcohol (d) Antibiotics

frrefaRad Il # J@e & IR § I9An fhy S At fedl Te | geq St &
M ey :

(a) AT () (b) iefRRrE
(c) Uwhleld (d) it (Yeamfen)
10 Write any four impacts of growing human population, in our country. 2

AN 39T | Fodl g5 MEe ¥ B9 a1 Hig 9 g9 Ak

11  Arrange the following components in a sequential order : 2
Biosphere, Cell, Genes, Organisms, Ecosystem
frrfiaa daeanl B 37k el FIHA § HAAR [aRay :

12 “We observe a continuous range of height in human beings.” Explain, why? 2

‘Al W @A W W U offafer uwe uii@tid gar 317 @l P e s
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14

15

16

17

Given below is the diagram of stomatal apparatus of a dicot leaf. %X4 =2
Identify the parts (a), (b), (¢) and (d).

e TEdo= & T Suser @ e fa g ot g1 3@t (a), (b), (c) @ (d)
GxaTel @l gga &Y farag|

Define the following and write any one example for each : 1+1=2
frfafaa @ gfeamon ey Ud® &1 Th-Td IaE Ry ¢
(a) Autotrophic nutrition
TIAST qr
(b) Heterotrophic nutrition

fog—ardy T

What is leg-haemoglobin? Where do we find it? Write two functions 1+ % + % =2
of it.
WEMMAIST F1 & P g8 X %ol (qadl ¢ ¢ 39% &l Yer faRag|

What happens when sun rays hit the chlorophyll? Write the site of 1+1=2
photolysis water.

T BT &, T G BT FARIGA U USAT & 7 TA % YIS ST (JH1eT TI)
% YA &1 A9 fARaT|

Write four important components of urine of a normal healthy person. %X 4=2

Teh G ©RY Al b G % aR TH@ quZhl & T fafay
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18 Draw a diagram of human male reproductive system and label its,

testis, epididymis, vas deferens, urethra.

A T OF BT (9 T 39h JuUl, AW (TATSSERME), Jepdiiedl adr
TIAN I AR BT |

19 Define (a) Cistron, (b) Transcription 2
FrfaRaa @ aftam fafeg
(a) fawt, (b) srgera

20 Explain how Griffith proved that DNA is the genetic material. 2

fifther 3 fper webre R fopam foF Somw (DNA) & arrgeifites wared & 7 wamen @i

21 Botanical names of some plants are given in column-'A' and common  4x1 =4
names are given in column-'B'.

Match the items of column A with that of column B and rewrite the pairs.

Column - 'A' Column - 'B'
(a) Oryza sativa (1)  Sugarcane
(b) Allium cepa (1)) Paddy
(c¢) Saccharum officinarum (ii1) China rose
(d) Triticum aestivum (iv) Onion
(v) Wheat

35 Wef & ameias T @ A’ A fw e ¥ qur e B A dief & | T
fou T ¥ @@ A & Dl &1 @ B % @y 9e1 B aieh oo Sa-gRasmn §
forfaa—

w9 - A Ty - 'B'
(a) orRTgeT @ergar (i) T
(b)  ferm dar (i) &
(c) THT BT (ii1) TeEA
(d) FREa oeian (iv) @
V) T
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22

23

24

25

26

(a) What is the role of decomposers in any ecosystem? Explain with  3+1 =4
reference to grassland?
fordll Wit & orqeeenl @l @1 YR ¢ ? 919 % Q| b H@eW W 3! e
HT |

(b) Write any two examples of decomposers.

HUETH % B & IEEL fARaT |

Explain the following and give one example of each 4
fr=fafaa & <o FIvT g yd® &1 Th-Th Sl fakgu—
(a) Parthenocarpy
CIRRCARE|
(b) Endosperm
YoTaT
(c) Tissue culture
Tk dadd
(d) Monocot
Tha TSI

(a) Mention two sub-classes of immune cells involved in our immune 1+3 =4
system.
AN Ufe oF § ot wfoeell ®ifdtereti & & U< Bl Sead BT |

(b) Explain their role in immune responses.

gfcRen srgfparetl H I iR @l TR DI

Draw a neat and proportionate diagram of vertical section of human eye 4
and label - Cornea, lens, retina, vitreous - humour, pupil and optic nerve.

AT ¥ B ST B BT W qAT SIS O 6T SHb @S Hed (),

«d, ge ged (W), wramwse (fage &), gadl (Gite) qar geb e &l THiihd
BT |

(a) Define blood pressure. Differentiate between systolic and diastolic 2+2 =4
blood pressure.
T T DI AT faReT | ggpee @ T9 den sriviies I H faug s
(b) Write the name of the device used for measuring blood pressure.
Write its value for a healthy adult person.
(& T B AU ITel I3 BT 9 faRau | UTe 9T @ 99 Aled § e
HT Y&l Uodie (AM) faRaul
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27 (a) What are Okazaki segments? 2x3=6
STIhTEH TS T 8 7
(b) Define mutation. Explain two types of mutations.
SANET Bl AT fARag | 3 U % SATEdl &l e St |

(c) What are mutagens? Write any two examples of mutagens.

IAMadh T & ¢ SANEdD! & B3 &l IaTEL0 f\Ray |

28 (a) Draw structure of a neuron cell and label its. Perikaryon, Axon, 2+4=6
Medullary Shealth and Node of Renvier.
Teh STehT hITAThT T T SHThT 38k Uiichseh (YLIBILAr), el (),
Sl ST qAT AGIR qd %1 ATifhd BT |

(b) How is nerve impulse conducted in our body? What is the role of
dendrites, teledendrites, myelin sheath and synapse in nerve conduction
process?

TR YRR ¥ f37ehT ST &1 Hae e Wb eian ¢ 7 39 (dfrehr dass) wehH
% grad (39M), gt (S=15ed), Al o o sfaved (Rae) @t
freT ¥ 7

29 (a) Explain the following diseases. How can we prevent each one? 4+2=06
frfeaRaa T @ sareEr ST Te U @ UHA™ T BT YE B
qhd 7
(i) Marasmus, Kwashiorkor
ATTET, FATIERBT
(i1)) Rickets and Osteomalacia
froned, aReammimE
(b) What is hypervitaminosis? Explain with an example.

rfafeTiear ®m T ? TUH ISR B I H ITDB! ARAT BT |

30 (a) What is Kranz anatomy? Draw a flow chart to show C, 2+4=6
photosynthetic carbon cycle.
hesT SATBILeh! FaT & ? C,—TehreT Hewoor gorie &% g Ueh At
YaE g 90|
(b) How is C; cycle is different from C, cycle? Write any 4 differences
between them.

Cy—wh C,—h § e ya fo=1 & 7 3796 i/ 9 o fofau|

65/0SS/1-314-A | 8 ks
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General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
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4 Write your Question Paper Code No. 65/0SS/1, Set— on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.

A I

1 whendl 95799 & UEd S W AU AIHHE 3aed o |
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BIOLOGY (Theory)

Hatesm (Ram)
(314)
Time : 3 Hours] [Maximum Marks : 80
T 3 A [qori : 80
Note : (i) This Question Paper consists of 30 questions.
(i1)) All questions are compulsory.
(iii) Marks for each question is indicated against it.

(iv)

15 CE) SR €)
(i)
(iii)
(iv)

Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate answer. Choose
the correct answer among the four alternatives and write it in your
answer-book against the number of the question. No separate time is
allotted for attempting multiple choice questions.

39 UT-U H 30 ueA ¥

afl wed sfEd ¥

UA% YT % oih Iuk WA IR T E)

T HHIG 1 H 8 A% & TP W H AR faswed — (A), (B), (C) &R (D)
@ ™ ¥ W e waiys Stua §1 9 el § ¥ 98 a8 gy e
O SA-GRABT H TS HHh & W (ARG | Sgiashed] Ueal & o o
¥ g9 T foar smwemi

1  The cell wall of plants is made up of cellulose. But in bacteria the cell 1
wall is made up of-
(A) cellulose (B) proteins
(C) peptidoglycon (D) carbohydrates
uredl @1 Hifvee it Agars @ g9 e ¥, T Siary] @l st fi
fepgant A1 Bl B
(A) HFAST DI (B) 9N @l
(C) ULISIEEHIA Dl (D) wEERSIH
2 Stem is a developed 1
(A) Radicle (B) Node
(C) Plumule (D) Bud
T we fysfaa yafda #:
(A) TR (B) wd
(C) wigR (D) hicTast

65/0SS/1-314-B | 2 % [ Contd..



3  Cyanobacteria is included in kingdom Monera, because it has 1
(A) nucleus without nuclear membrane
(B) no cell wall
(C) flagella
(D) chloroplasts
TITAT SFRINET Bl AT SO & Sfaiid @1 @1 ¢ Fiih 399 il s
(A) & Hse el @ b
(B) wifreer fufa erqufea =i &

(C) ™
(D) FAARE
4  The habitat of a tapeworm is- 1
(A) Sunderbans (B) Human gut
(C) Soil (D) Roots of plant
BT BT BT AT ¥
(A) g<ad (B) #HMa AR AT
(C) wa (D) umRHl @ S
5  The bacterium used in plant genetic engineering is- 1
(A) Vibrio cholerae (B) Agrobacterium tumifaciens
(C) Plasmodium Spe. (D) Lactobacillus
e STERTE SRR (S SofrEten) ¥ SwE fe ST e e 3
(A) Tfafsar sl (B) wIEFEIRTT SR
(C) wIHIRgT o, (D) wFRIRITT
6  Type of fruit of pea is - 1
(A) simple (B) aggregate
(C) composite (D) false fruit
HX &b Hel B YB3
(A) Usd (EXd) (B) Y ®d
(C) wufra (D) emwTE B

65/0SS/1-314-B | 3 % [ Contd..



7  The common antibiotic, penicillin is the product of a type of- 1

(A) Fungus (B) Alga
(C) Protozoa (D) Gymnosperm
T gheitas (feamifes) UMee Sared & a Sig & o 8
(A) ®h (B) St
(C) Wrarsiem (D) TR (sATgaaeh)
8  The stem modification in ginger is called - 1
(A) Corm (B) Rhizome
(C) Bulb (D) Tuber
3EXH H I b WU Bl HEA © —
(A) =THT (B) "as
(C) <9Tehds (D) &g
9  Write the names of source microbe (one each) used in preparation of 2
following products :
(a) Yogurt (b) Polymyxin
(c) Alcohol (d) Antibiotics

frrfiea SaRl § Joi® % SdRT 9 I9an oy S A el U aid ged Sia @t
M fafeay :

(a) I () (b) il
(c) UwhE (d) it (Yeamaifen)
10 Arrange the following components in a sequential order : 2

Biosphere, Cell, Genes, Organisms, Ecosystem
FrfeRad daeml @l Sh T2 oTgHA § wargar Ry :
NIHUSH, BITHT, S, SE, qIesT

11 Write any four impacts of growing human population, in our country. 2

AN 391 | gedl g5 Hue ¥ 89 I &g a9 yra faRaw

12 With the help of a suitable example explain the term ectotherms. 2
T ITETO Bl TEEA A Tl (feHardn) w1 e b
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14

15

16

17

18

Draw a diagram of human male reproductive system and label its, %X4 =2
testis, epididymis, vas deferens, urethra.

AT T F BT O S Iqh U, AUguer (TifSSERE), (ehattel qr
AT 1 AT R BT |

Write four important components of urine of a normal healthy person. %X 4=2
Th G ©RY Al b G % aR TH@ HuZhl & T fafay|
What happens when sun rays hit the chlorophyll? Write the site of 1+1=2

photolysis water.
T AT &, T I BT FAGA U USdT & 7 A % JHIYT I (I T)
% MY &1 A9 fARgU|

What is leg-haemoglobin? Where do we find it? Write two functions 1+ % + % =2

of it.
AT T T 7 I8 TH haEl Hedl & ¢ 38% & Yh [Rag|

Define the following and write any one example for each : 1+1=2
frfafaa o afeamon et ud® &1 Th-Td Iae i ¢
(a) Autotrophic nutrition

AT arr

(b) Heterotrophic nutrition
fawm—ardT gy

Given below is the diagram of stomatal apparatus of a dicot leaf. %X 4=2
Identify the parts (a), (b), (¢) and (d).

U TSI & T Suswr & = o g golfan @ # 1 sEe (a), (b), (c) 9ur (d)
LTS8l &l gga™ &Y faRau|

65/0SS/1-314-B | 5 % [ Contd..



19 Explain how Griffith proved that DNA is the genetic material. 2
fifteer = feper webk R b o6 e (DNA) &1 aafite ared 2 7 samen #if|

20 “We observe a continuous range of height in human beings.” Explain, why? 2

‘Al W WEE W T UH Sffares I uiRatad eiar g 7 a7 et Hig |

21 (a) Why are stems of some plants modified in phylloclades and rhizomes? 4
Write one example for each.
B drel & I IO qAT Ueba H WU Fl B W & ¢ YD B Th—Th
SerEy fafay |
(b) Differentiate between thorns and spines. Write one example of each.

Bl TAT @ & S [IHT BHINTT| I&B B Th-Tdh IQE HI ey |

22 Draw a neat and proportionate diagram of vertical section of human eye 4
and label - Cornea, lens, retina, vitreous - humour, pupil and optic nerve.
AT 5 Sl ST HIE B @SS qAT AN (I DL 38h e Hsd (i),
Wd, 3fte Tea (W), swramwEa (foge =gwr), gasl (i) T 5 e & AHitad
HIT |

23 Explain the following and give one example of each 4
fr=fafaa & <o I T Yde &1 Teh-Th Seredel faRkgu—
(a) Parthenocarpy
CISNE R
(b) Endosperm
YOI
(c) Tissue culture
Tad qaYT
(d) Monocot
Tehd TSI

24 (a) What is the role of decomposers in any ecosystem? Explain with  3+1 =4
reference to grassland?

fordll W= o oTqaeel &l @1 YR ¢ 7 919 % HAal b H€eW W 3! e
HIT |
(b) Write any two examples of decomposers.

STTECHl b B3 &l IaEL0 faRay|

65/0SS/1-314-B | 6 % [ Contd..



25 (a) Mention two sub-classes of immune cells involved in our immune 1+3 =4

system.
T YiaRen aF § onia wfoRel wifdeemst & 3 Su-—am @l Ied B

(b) Explain their role in immune responses.

gl srgfhanetl # Ih! et B AT B |

26 (a) Draw a sectional lined diagram to show pituitary gland and label 2+2 =4
its parts.
dgdt (Rregedl) ify & S qui 3G SEd Ry #1e &1 (@Y
@ (Fas) ST 39 TN ol AT B |

(b) Write the names of any two hormones secreted by it.

39 T @Iaa el &l el & W fafau)

27 (a) Draw structure of a neuron cell and label its. Perikaryon, Axon, 2+4=6
Medullary Shealth and Node of Renvier.
Teh 1Rl DIThT T s IR 36k Uikehadh (YIhiar), e (Tai),
TS TR qUT HGAX T4 &l AHiehd BT |

(b) How is nerve impulse conducted in our body? What is the role of
dendrites, teledendrites, myelin sheath and synapse in nerve conduction
process?

AN SR | e ST &1 deree e Yk Bl @ 7 39 (e dae) whA
7 gaad (S9M), gl (S=152H), A™fad Siess T sfaie (=) &l
T & 7

28 (a) Explain the following diseases. How can we prevent each one? 4+2 =06
frrefaRaa TRT ol =amen ST Y& AT &l THAT™ &9 fohd Th &
qhd 7
(i) Marasmus, Kwashiorkor
A, AT
(i1)) Rickets and Osteomalacia
fheq, sfieamaiimEr
(b) What is hypervitaminosis? Explain with an example.

STfafgTiar T T ? Tdh IS B GEIdl  FEDh] ARAT DT |

65/0SS/1-314-B | 7 % [ Contd..



29

30

(a)

(b)

(c)

(a)

(b)

What are Okazaki segments? 2x3=6

AT TS AT % 7
Define mutation. Explain two types of mutations.

IAREAT Bl g fRau| & R & IAREdHl @ AT Hitag |

What are mutagens? Write any two examples of mutagens.

IANEd® T & ? SARadhl b hls & SEEL [WRaT |

With the help of schematic flow chart only show the renin 5+1=6

angiotensin system regulation of blood volume and blood pressure

in human body.

HIA TTTHD TATE TIe Bl Feaal § A I H BT ofaa &k
R T frame & fou e diaeiaa 9 wefifa @i

What is haemodialysis?

TR adied (SHIsmETaeE) @1 €7

65/0SS/1-314-B | 8 ks
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are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 65/0SS/1, Set— on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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Note :

et

(1) This Question Paper consists of 30 questions.

(i1)) All questions are compulsory.

(iii) Marks for each question is indicated against it.

(iv) Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate answer. Choose
the correct answer among the four alternatives and write it in your
answer-book against the number of the question. No separate time is
allotted for attempting multiple choice questions.

(i) 3 YS9 § 30 WA ¥

(i) wf 9T fEd

(i) U® UST % b SHe TMA I T |

(iv) U7 %I 1 § 8 A% & Udd W ® AR fased — (A), (B), (C) &R (D)
@ ™ ¥ W e waiys Stua §1 9 el § ¥ 98 a8 gy e
O SA-GRABT H TS HHh & W (ARG | Sgiashed] Ueal & o o
¥ g9 T foar smwemi

In bacteria DNA is located part of the cell. 1
Select the most suitable answer.

(A) nucleus (B) nucleoids
(C) nucleosomes (D) cytoplasm

SIATY I BT & 3 90 | S/TAY STaRyd BT 5|

vd gqfaa fawea @ gie-

(A) &H=E®H (B) HEHd

(C) —gforraram (D) ®IHT A

The bacterium used in plant genetic engineering is- 1
(A) Vibrio cholerae (B) Agrobacterium tumifaciens

(C) Plasmodium Spe. (D) Lactobacillus

Uy TR AT (SHiew SSaran) # IuEnT fhar ST arer Sty @

(A) fafsat @i (B) wIRFEIRTT ZHHR~<T

(C) wIHIfegT o, (D) dFlEfg
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3  Cyanobacteria is included in kingdom Monera, because it has 1
(A) nucleus without nuclear membrane
(B) no cell wall
(C) flagella
(D) chloroplasts
AT SHRITET Bl HERT TG & Sfald @m0 & it 399 oar &
(A) T8 s Al B b
(B) wifreer fufa eruRea 2 &

(C) wmw
(D) TR
4  Shedding of leaves in plants is controlled by this phyto hormone. 1
(A) Auxin (B) Florigin
(C) Abscisic acid (D) Gibberellin
el W ufaEl % e w1 RS 39 URY SM &1 eI © -
(A) efifeRT (B) WA
(C) ufeatdw s (D) forarcfer
5  The stem modification in ginger is called - 1
(A) Corm (B) Rhizome
(C) Bulb (D) Tuber
3EH § I &b WU Bl BEd € —
(A) =T (B) waeE
(C) 9Tcehehs (D) @T
6  On injury excessive bleeding is found in some patients, the reason for this is- 1

(A) low count of platelets in their blood

(B) low count of RBC

(C) low count of WBC

(D) less volume of plasma

e TH W FB URE H TAfesd [@aaa eidl & | 386 B &
(A) TR H wewed & & & §gd HH o

(B) T BT HITITHIST HI & HY BT

(C) 93a BfYR HIfyTebre &I & BN HF EFT

(D) ASHT ® AT BH BT
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10

11

The habitat of a tapeworm is- 1

(A) Sunderbans (B) Human gut

(C) Soil (D) Roots of plant

HIAT P BT ST F:

(A) g (B) HNE AMER T

(©) T (D) i B o

Chlamydomonas shows 'isogamy', as the gametes are- 1

(A) Identical to each other

(B) One gamete is male and one is female

(C) Both gametes are produced by same individual

(D) Both gametes do not have flagella
FAESHAE THTHDH! B &, Hifh S g (1) = T q9md 2 |
(A) €@ TH 9N B T

(B) Us gWe X qUT @A AIGT G BT

(C) T g™ TH & S g 34 Bl & |

(D) T B § BIMH (RAToan) TE B |

Define the following and write any one example for each : 1+1=2
frfeaRaa @ gfvamr faest yde &1 te-us Saer faRau -
(a) Autotrophic nutrition
AT arr
(b) Heterotrophic nutrition

ferog—arfy awor

Explain the following : 2
iR 1 e Hifvy
(a) Mutagens

ERITERED

(b) Point mutations

fag Safaad

What is leg-haemoglobin? Where do we find it? Write two functions 1+ % + % =2
of it.
TEHNAINST T 8 P gE BH Hel Hodl ¢ ¢ 39% al Yhl [arag|
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12

13

14

15

16

17

Fill up the blanks with appropriate answers : 2
Tfad SaX & R el &1 gid @ity

(i) Graffian follicle __ovulation

(i1)) Ovum + — zygote
Y+ — AW
(ii1) Inner wall of uterus forms after implantation.
SISV &% IUA THIE T A& AT B
(iv) Progesterone is secreted by

TR Wioieg ™ aifad &im 2|

Write four important components of urine of a normal healthy person. %X 4=2

T A WY AR % JF & 9 THE Hueal & T Rl

Draw a diagram of human male reproductive system and label its, %X4 =2

testis, epididymis, vas deferens, urethra.
A T OF BT 9 T 39h JuUl, AW (TATSSERME), Jepdriedl adr
TIAN I AT BT |

Define (a) Cistron, (b) Transcription 2
Frfaiaa & greamn fafag -

(a) fat, (b) srgeEd

Explain how Griffith proved that DNA is the genetic material. 2
fifteer =1 fop v Rs foparn b Stgw (DNA) &1 Siiaiies et 3 ? =amen st |
Given below is the diagram of stomatal apparatus of a dicot leaf. %X4 =2

Identify the parts (a), (b), (c) and (d).
s TSI & T Susewr & = fasr g qafan man ® 1 gEe (a), (b), (c) 9 (d)
HIAS Bl TEaN HY faRau |
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19

20

21

22

23

Arrange the following components in a sequential order :
Biosphere, Cell, Genes, Organisms, Ecosystem
frrfofaa daeml @ 56 T2 oTgHA § wargar Ry :

Write the names of source microbe (one each) used in preparation of
following products :

(a) Yogurt (b) Polymyxin

(c) Alcohol (d) Antibiotics

FrfaRaa SRl  9e & SARd § SUART 6y oM At fhe! T | g&d Sid &l

T fafaw :

(a) AT () (b) iR
(c) UwnEM (d) it (Yeamafen)
What happens when sun rays hit the chlorophyll? Write the site of 1+1=2

photolysis water.
HIT BT &, TS A BT FARINGA U USdT & ¢ A & JbIT I (I Ta)
% oTard @ A faRau |

Explain the following and give one example of each
frrfeied @1 =men ST Je1 Y&® B Th—Udh 30 [arau—
(a) Parthenocarpy

CIRNE R
(b) Endosperm

HOTaS
(c) Tissue culture

Faw gagT
(d) Monocot

Tha TSI

(a) Mention two sub-classes of immune cells involved in our immune 1+3 =4

system.
TAR iR o o o wieRell sifvents & & Su-al @ Iwid B |

(b) Explain their role in immune responses.

gfoRen srfoharatl H Il e Bl AT HIfTT |

(a) What is the role of decomposers in any ecosystem? Explain with  3+1 =4

reference to grassland?
fordll W= & oTqeeel & @1 YR ¢ 7 919 % QI b €eW W 3! e
BT |

(b) Write any two examples of decomposers.

STETH & B & IS fARaT |
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24 Botanical names of some plants are given in column-'A' and common  4x1 =4
names are given in column-'B'.

Match the items of column A with that of column B and rewrite the pairs.

Column - 'A' Column - 'B’
(a) Oryza sativa (i) Sugarcane
(b) Allium cepa (i1)) Paddy
(c¢) Saccharum officinarum (iii) China rose
(d) Triticum aestivum (iv) Onion
(v) Wheat

FB Wdl % Iedioe T @ 'A' F g g ¥ qan @@ B! # Wl % amra I
feg T 31 & A & Qgl &1 W B % Wy @@ e & ool Sai-gRaeT §
fofae—

w - A @ - 'B
(a) aTgr dergar (i) T
(b)  leraw dar (i) &
(c) T SifBrrRg (iii) Tzed
(d) T o (iv) =

v T

25 (a) How are polar bears adopt to severe cold conditions? 2+2=4
Write any two adaptations for such conditions.

garg W (TR faR) srcafis 33 ardraxr & g ey srgiaa i & 7
39 YA & uRRgfEal ¥ % MU 396 @i d1 oged aRag|

(b) What are poikilothermic?
feroramdy w7

26 (a) Name the master endocrine gland present in human body. 2+2=4
Where is it situated?

AE IR ¥ 90 ST el A siqEmey Ui o A fafaw) g ik o
®el STaRYd B T 7

(b) Write the names of two hormones secreted by it. Mention one
function of each.

3T BT FIed & HM & AW fE®t Yde & Uh-Us & 9 fakay|
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27 (a) Draw structure of a neuron cell and label its. Perikaryon, Axon, 2+4=06
Medullary Shealth and Node of Renvier.

Ueh AT BIITHT B s TR 3Hh URebadh (UIhear), dfere (Tad),
TSIl SATEBE qUT {AGAX I bl AHi(ehal i |

(b) How is nerve impulse conducted in our body? What is the role of
dendrites, teledendrites, myelin sheath and synapse in nerve conduction
process?

TA IO # feT STeT @1 Haed fhe TR eI & 7 39 (A dae) whA
# gaad (S|M), gherel (S=15eq), ARfad e adr siaua (=) @ =
fHenT 3 7

28 (a) Explain the following diseases. How can we prevent each one? 4+2 =06
frfaRad T @ sareEr HIT | TEe U @ UHA™ T BT TR B
o 7
(i) Marasmus, Kwashiorkor
AT, FATIERBT
(i1)) Rickets and Osteomalacia
froned, aReammimEm
(b) What is hypervitaminosis? Explain with an example.

rfafeTiear w®m T ? TUH ISR B I H ITDB! ARAT BT |

29 (a) What are Okazaki segments? 2x3=6
STITsATh TS T & 7
(b) Define mutation. Explain two types of mutations.

IAMEAT B AT fARIT| &7 YehX & ST i TET HIrT |

(c) What are mutagens? Write any two examples of mutagens.

IANEAD T & ¢ SARAdh] & DIy & IETEL [ARIT |

30 (a) What is ultra filtration? Describe this process. 2x3=6

TUMRIET &1 & ? 39 YhH &1 U HIT] |

(b) What is antinatriuretic factor? Explain its role in homeostasis.
gfadau Ed HRE (TR hael) o & ¢ auRkdfas o & gqe
T & JUA BT |

(¢) In case of kidney failure doctors advise kidney transplantation.
Write two precautions to be taken in this process.
Joh-—I1d T U Tafcheas gaes TATOqYT &l §a1e od & | 39 Whd H oTUTs
T Tl & aagEr ey |
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